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Note: (i) Thercare in all 30 questions in this question paper. All questions are compulsory.
(i) Marks aliocated to every question are indicated against it.
(iii) Question No. | is multiple choice type guestion. Qucsiion Nos. 2 to 6 are of one mark cach.
Question Nos. 7 1o 15 are of two marks each. Quustion Nos. 16 to 24 are of three murks
cach. Question Nos. 23 to 30 are of four marks each.

| 3@ WA & uedd @ve # TR H ur fwed fag wa & 98 e ggedl STR-gidet

7 farfey - 156 =6
Four options are given in each part of this question. Write the correct answer in your answer bock -
(@) IRV G @ TEaHS O & -

The chemical formula of common salt is ~

{1y NaCl (ii)y HCi (ii) NaOIl (1v) HNO.

(@) frett Regs @ pH w1 7 & T8 Rema g -
The pH of a solution is 7. This solution will be -

(i) srena (i) &g (iil) T (iv) 779 | B3 TR
Acidic Alkaling Neutral None of these

() Fr=forfige & & = @ gew g9 © -

Which of the {ollowing is a plant hormone —

(i) e (i) RN (iil) TETAA (iv) TQTEeTHEEe
Insulin Thyroxin Qestrogen Cytokinin
[ 1] | PT.O.
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() Wit &7 73 & —

['he unit of resistance is —

(i) @& (i)
Yol Ohm

(1) A {ivy Il
Mnpere Toule

() UF Gefoi A0 D BIHE I 20 G T G B AT S —
The focud length of convex lens is 20 em. Power of the lens is —
(i} 13D (v} —SD

() 2D {iiy -2D

& Re et g akaRE T 2

It tollowing, the conventional source of cnergy is -

(il yadia Hat v) e Haf

(i) SaEEr 599

Fossil Fuels

(i) R Gt

Solar Energy

Geothermal Fnergy Nuclear Encrgy

faverest sitafirar @1 v Iarexe it | 1
Oive an exomple of displacement reaction.

TP uiw] FH B 9grEel §iRm, @ dhgm gt § i @ T l
Give an example ot animal hormone that secretes {rom pituimary vland,

fepa ey W o gRafa SRR !
Defime clectromugnetic induction.

T &1 oildda &l (TR ey | 1
Write Sneli's kiw of refraction.

a4 S died (g fafrer & S owa gedt @ gren ww # ? '_
From which radiotion radiated by Sun, the Ozone laver prowects the earth 7

o o aAr w1 sifiasar 91 dae TEmie TEeRy T | @ U STURl 9] Gargdy 2

Write only chemical equation for the reaction of preparation of bleaching powder, Give its one

ase also

T A THT®] @ 9™ Tgfa @ oneaw W fes difra 3 e @ifae - ] rl=2
On the basis of npomenclature of carbon compounds. name the following compounds —

HOHH
| I
(#) N-—C—C—C—Cl

froir 1

(HXK)

b

({

{1

(E) H—C=0
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0 WP g fAyEs § arwe amsd | 2
Ditferentiate between Pollination and Fertilisation.

10, ofR &g & 7 9fF9 & Urgd # GO a0y 1_i\E|<53 g 2
What is saliva ? What is its role in the digestion of food ?

1w F oged et foir fPateo @9 gar 8 2 2
How is the sex of child determined in human beings ?

i2. fae am % a=gall & FEr § o STRES T WA gl B S@id £ 7w @iy 2
Why is the tungsten almost uscd as a filament of electric lamp 7 Clarify.

13, fafy ses o1 wfoNty e ol Al a=ar & 7 99ssy 2
What are the factors on which the resistance of a conductor depends 7 Explain.

14, THET F WA § 3V 0 T § ? Wagn @ e 9w fues gad a9 frae wwa w8
eIdr g7 2
What do vou mean by spectrum of light 7 Which colour of spectrum deviates the most and which the
least !

- [ [t [ L b A% - 9. 5 \

TS, =Tl G277 Sr=aap el el [ T o T = 7 UTUEh R U T SRIae0 RIS ! 2
What is meant by renewable and non-renewable sources of energy ? Give one example of each,

165, a"'ﬂ"“ﬂﬂ_:: HTd L% [-1?]*{ a7 ?ﬂf ? 3“‘&!"_:'-&5) AT (_‘I’ HI<uq] ‘T 'H‘EE' e '\’ﬂ[l‘.]r;_' T HTEE g il | 3
What 1s modern period law ? Clarify the meaning of “groups’ and “periods” in modern periodic table.

17. () =g @n B 8 7 gud gl gerseer 1 difig 2

What arc alloys ? Give its two example also.
(FT) AT TSN B A adsy F uhfa # g arEwen H url Grdh 2 l
Name two metals which are found in nature in the free state.
JUAr (OR)
U T X el Y=t WUl Yaur 29 w&a1 2 Y Ue wevas wrafas ued @ wafs 7 Rea @ o
SO Waw 21 X, Y den Z @7 geEfan ) 3
Anon-metal X exists in two different forms Y and Z. Y is the hardest natural substance, whereas Z isa
good conductor of clectricity. Identify X, Y and Z.
233 (UXK) 3] [ P.Y.O.
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I8, FT ¥l 7 oW (@ad TanafAe gitevr fafin) - P<1+1 -3
What happens when (write only chemical equation) —
Zine reacts with sodium hvdroxide.
@) T S I N HdT SRTRES AW gaifed @ o
Carbon diexide gas s passed in lime water.
(1) RmEs F 373°K 95 e {Bar o
Zipsum 1s heated upto 373°K.
19, gm @) sgaud s @ R g9gd R Sud refafa winl @ gatza 144114=3
Draw longitudinal section of a flower and label following parts in 1t —
fIJ T i 2] (i) dfde f'uﬂ TSI
Anther Stigma Ovary
20. (@) 9rgdr@ T FgrEdry vaud i @O e g 2 >
What arc the differences between aerobic and anaerobic respiration ?
(@) @S gad TS & SUIRT & Ferd adl &F sl & ? 1
Why s the use of fodised salt advisable ? http://www.ukboardonline.com
21. "9 uid4 99 & W RF aagd aon 39y el i @ gtz ~ 19013
Draw a neat and clean diagram of human alimentary canal and Jabel the following parts in it -
fi} STHTH] {if} ag Gfi) TSI A
Stoinach Liver [.aree intestine
312AT (OR)
ATTa ¥ a9 @1 9w {a angd gur gud faefafiad il @ euind -
Draw a neat and clean diagram of human respiratory system and label the following parts in it
(i} FUES (i) varTe (i) =rammm
Lung Trachea Diaphragm
220 (&) v figgd gea ® 200V - 100 W 3fda 81 gy gfavs oar gnr 7 1
An electrie bulb is rated at 200 'V - 100 W, What will be its resistance:
() e s el @ 3 e faldy 2

Write two propertics of magnetic field lines.

233 (HXK) [4]
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o
R i N — -
R @ gl adarE | -

23015 O iy ) A s T W 20 9 9 g o 4 e ) gvg vl B w9 Rof,

A4 en long objectis placed at a distance of 20 ¢m [rom a concave mirror of focal length 135 em. Find

the position. size and nature of the image,

314t (OR)

fRare--gie qm { @0 ST 2 7 39 <9 & BROT el WIS adrsl |

What is meant by Myopia ? Write the causes and correction of this defect

24, (@) wafovm & 581 <7 et wewt & = R 1
Naie any two abrotie components ol covironment,
() =Ry Fod R ST ] S € 7 ISR N GHESd | 2
What do vou mean by Nuclear fusion ? Expluin with example,
25 ) wAuidin sl gar 37 SgEve afed wRsnay | ”
What is homologous series 7 Explain with an example,
7 TECTIVY A TP IR S AR Fitd AHsigd | 2

What 15 Estentication ? Fxplain with chemical equation.

26, (@) U ] O TE HOTT o0 WA ERIa O Iy ag uv gq aigver # apit wud) 8 I

Name a metal and a non-metal found in liguid state at normal emperature.
) e N T <y g mpp e £yto . o = SNV

(&) ST AT & AT O Wl Seeld Ifort o @ @ty i amata Gl wi
Nei=lep U 9dt TIET F 7 .
Menton the seneral properiies of lonie compounds and clarity that why do 1onic compounds have
high meltine points

31241 (OR)

() vism T FeEmq 4 aul SR 2 ? e § R @ ol od fARagE @ T 9 and
vrurrEer ahrhra fafaee 3
Whart s the diffcrence between roasting and caleinution ” Write the chemical reaction that takes

plave during rousting wind caleination of zine vres.

(@) s sy 4 sudfta den susfad ggrd & awer Siferg —
ldenufy the subsiance that 15 oxidised and reduced in the following reaction -
MuO = dHCT —— MpClL+= 2110 1 C,

133 (HXK) [ 5} [ PT.0.

http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



wod duluopIeo@ N Mmm//:diy

http://www.ukboardonline.com

27 @) =R Wi # g BT utad @l g @ 7
Where does the digestion of fat takes place in our body ?
@) (b a1 [ Sngad (FeTd <9 W 9EH @1 wEE g ?
What will happen to a plant if its xylem is removed ?
(A7) Tl T UHET AT P TF—T@ TSTE Ty THETSY |
I'splain analogous and homologous organs with one example each.

Ag o 22 v gfiyer ended o T BT —

[n the given circuit diagram, calculate — ) 10

- ll'

(i) vm uliRas | weanfed AT am e\
. . . A —
I'he current flowing through each resistor I wo '

(1) d YGer tgl‘[ SIS (¥
The total resistance of the circuit B
(iii) TRuer ¥ waifza ger fagga g I_"*‘C)_@‘]

The total current in the circuit

20 (@) werfem @ gt Fram ferflg
State Fleming’s left hand rule.
@) weurathl (TRy o e arr # | ST exnsy )
Give o differences between alternating current and direct current.
34l (OR)
() o< HufRer iy @) amepre A P orden Ten oA o s 8 P
Why does the sky appear dark instead of blue to an astronaut ?

12

)

12

L

[

(@) YBTel G ¥ 1,50 SUadAie @ Bk o FIE Pl 3| Bl B FDE @i wrd @@ enfl, o 3y

HOARBIY B A 3 < 108

2

[ight enters from air to glass having refractive index 1.30. What will be the speed of light in

olass 1f the speed of light n air is 3 * 10 ms™,

W, T W TN W WU A YN @ T AE B 7 TIE PI|

i 4

What 1 the importance of torest as a resource ? Clarify.

3

(@) W TaEN W edl AWWg € 0 T www » v zaw gl gl & woRrma g

46137 |

a9
L

What do you mean by water harvesting 7 Write two traditional systems of water conservation.

JIUAT (OR)

() om0 faeEre et qeeer B il ol & o e o 8 2

FFor which specilic work, the Amrita Devi Bishnoi national award is given

o R R Al R

233 (UXK) | 6|
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F) uuton o g @ A wEw @ R W Ay ¢ TEES € P owery | )
What do you muean by the three “R's 1o save the envirenment 7 Write in brief.

wod duluopIeOo@ N Mmm//:diy



